
the green arrow represents?
A- Oxyphill cells
B- parafollicular cells
C- follicular cells
D- chief cells

ANSWER C

Wrong about the represented cells
A- produce calcitonin
B- Can occur singly
C- originates from ectoderm

ANSWER C

Name the structure
A- right lobe
B- column vertebrae
C- Isthmus of thyroid
D- Trachea

ANSWER C

Wrong about this structure
A- regulates day/ night cycle by retinohypothalamic tract
B- pituicytes are the most common cells
C- it has brain sands
D- contain glial cells

ANSWER B

- wrong about the following structure
A- regulates glucose level in the body
B- Immunohistochemistry is the only accurate
method to differentiate between different
cells
C- mesodermal in origin



D- Variable in size and number of cells in
different people
ANSWER C

the pointed nerve is
A- external laryngeal
B- recurrent laryngeal
C- vagus nerve

ANSWER B

- wrong about pointed artery
A- It then turns medially and downward to reach the
posterior border of the gland
B- branch from external carotid artery
C- related to recurrent laryngeal nerve
ANSWER B

true about this picture
A- branchial fistula
B- thyroglossal fistula
C- happens when 3rd pharyngeal arch fails to grow

ANSAWER A











1.Which is the Largest Hormone
A. Glucagon
B. Angiotensin II
C. dihydrotestosterone
D. Thyroxine
E. Epinephrine

2.Testosterone is mostly found:
A. Free
B. Associated with Sex-Hormone- Binding-Globulin
C. Bound to Albumin
D. In target Cells

3.The true difference between Type I & Typr II nuclear receptors is:
A. type 1 receptors are specific to steroid sex hormones while type 2 receptors are specific to
steroid non sex hormones
B. type 1 receptors are bound to DNA only when the hormone is bound, while type 2
receptors are always bound to DNA
C. type 1 receptors usually form heterodimer while type 2 receptors from homodimers

4.Which of the following is NOT true about cholera toxin:
A. increases cAMP inside the cell
B. causes flow of NACL outside the cell and can lead to dehydration
C. Associated with Tyrosine Kinase

5.Tyrosine Kinase Termination is done through:
A. Inhibition of binding of the ligand
B. Endocytosis of receptors by lysosomes
C. Sos proteins
D. Phosphatases

6.Which of the following does not happen during CYP17 deficiency
A. Low Aldosterone
B. Low testosterone
C. low androgens
D. low estrogen

7.Best definition of permissive
A. one hormone is precursor to the other
B. one hormone antagonize the other
C. one hormone is needed to have a larger effect
D. both hormones have the same action

8.The hormone with the longest t1/2 is?



A. insulin
B. epinephrine
C. glucagon
D. progesterone

*Incorrect about adrenaline in circulation ? Peptide hormone



F



]

1- Correct about hormone receptor binding – hormones bind at saturation
level
2- Has the least number of peptides – TRH

- True about G proteins – alpha 2 receptors usually are inhibitory
What must happen instantly in order to prevent overstimulation by a
hormone?
a.Hormones must be degraded and then resynthesized.
b.G-proteins must be recycled and then degraded.
c.Receptors must dimerize.



d.Receptors must be blocked from continuing to activate G-proteins.
e.New receptors must be synthesized to decrease the saturation effect of the
hormone.
ANSWER D
Regardless of how a signal is initiated, the ligand-binding event is
propagated via second messengers or protein recruitment. What is the
ultimate, or final biochemical outcome of these binding events?
a.A protein at the bottom of an intracellular signaling pathway is activated.
b.A protein at the top of an intracellular signaling pathway is activated.
c.A protein at the top of an extracellular signaling pathway is activated.
d.A protein in the middle of an intracellular signaling pathway is activated.
e.A protein at the top of an intracellular signaling pathway is deactivated.
ANSWER A

26-Regarding VITAMIN D3, which is false?
a.Vitamin D3 inhibits intestinal calcium absorption
b.Vitamin D3 plays an important role in maintaining calcium homeostasis
c.Vitamin D3 Enhances intestinal calcium absorption
d.Vitamin D3 enhances calcium reabsorption in the kidney
e.Vitamin D3 active metabolite is named 1,25-(OH)2D3
ANSWER A



V



V





41- Agent for acromegaly and diarrhea – Octreotide
44- Wrong about Bromocriptine use – dwarfism (most likely)
46- Not an effect of thyroid hormone treatment – constipation
47- Major side effect of prolonged glucocorticoid treatment – suppression of
hypothalamus-pituitary-adrenal axis



49- Causes hypoglycemia – Glyburide
53- Wrong about sedation – mainly due to fexofenadine family of drugs
52- A sorbitol inhibitor – Enalrestat
51- True about TZDs – PPAR agonists
54- Antihistamine agent, safe, used as hypnotic – chlorpromazine
57- A rapid acting, short duration, IV insulin preparation – regular insulin
59- Used as a diagnostic tool for cushings : metopirone
Which is true: PTH coupled in cells or calcitonin is a physiologic regulator of calcium

Treatment of Type 2 Diabetes include ?
a. Agents which decrease insulin secretion.
b. Agents which decrease the sensitivity of target organs to insulin.
c. Agents which increase glucose absorption.
d. Insulin.
e. All of the above

ANSWER D
Sulfonylurea receptor in B-cell membrane activation results in
a. ATP-sensitive K+-channel activation.
b. Cellular membrane depolarization.
c. Ca2+ removal from the cell via voltage-dependent Ca2+ channel.
d. Glucose release.
e. All of the above
ANSWER B

The main problem of metformin is that :
a. It increases the risk of lactic acidosis.
b. It increases the risk of ketoacidosis.
c. It causes development of congestive heart failure.
d. It causes hypoglycemia.
e. All of the above.

ANSWER A

Hypoglycemia rarely seen with these drugs when used as monotherapy
EXCEPT:
a. Metformin.
b. Acarbose.
c. Miglitol.
d. Glyburide.
e. All of the above

ANSWER D

All of the following are true statements about the thiazolidinediones EXCEPT
a. Thiazolidinediones may be hepatotoxic in some individuals.
b. Thiazolidinediones increase the number of insulin receptors on the cell
membrane surface.



c. Thiazolidinediones bind a nuclear receptor in tissue termed PPAR-y.
Thiazolidinediones are a novel class of drugs that were initially identified for
their insulin- sensitizing properties.
d. All of the above.
ANSWER B
14-Diabetes mellitus signs & symptoms are summarized by the following EXCEPT ;
a. Very thirsty.
b. Feeling tired.
c. Using the toilet often to urinate.
d. Feeling full.
e. All of the above.

ANSWER D
15-Regarding Corticosteroids, which is false;
a. The mammalian adrenal cortex is divided into three concentric zones.
b. The steroidal nature of adrenocortical hormones is established when
Reichstein synthesized desoxycorticosterone.
c. Aldosterone is the main electrolyte-regulating steroid.
d. Hydrocortisone (cortisol) is the main carbohydrate-regulating steroid.
e. Hydrocortisone (cortisol) is the main electrolyte-regulating steroid.

ANSWER E **********
16-Regarding the pharmacological actions of Corticosteroids which is false;
a. The pharmacological actions of steroids are generally an extension of their
physiological effects.
b. Glucocorticoids used to suppress inflammation, allergy and immune
responses.
c. Anti-inflammatory effect of Corticosteroids is used in cases of tissue
transplantation.
d. Striking improvements can be obtained up on the use of Corticosteroids
with mild side effects.
e. None of the above.
ANSWER D

-All the following are considered as mechanisms of action of the
sulfonylureas except:
a.Increase insulin receptor number and the affinity to insulin
b.Induction of glucagon secretion by pancreas
c.Inhibition of glucagon secretion by pancreas α cells
d.Ameliorating insulin resistance
e.Direct stimulation of insulin release from the pancreatic B-cells

ANSWER B
Which of the following is not an adverse reaction of insulin?
a.Hyperglycemia
b.Lipodystrophy
c.Insulin resistance
d.Nausea, hungry, tachycardia



e.Itching, redness, swelling, anaphylaxis shock

ANSQWER A

-All the following are among the pharmacological actions of insulin except:
a.Diminish hepatic glycogenolysis
b.Inhibit lipolysis
c.Induction of gluconeogenesis
d.Inhibit hepatic gluconeogenesis
e.Promote hepatic glucose storage into glycogen
ANSWER  C

32-This is the largest hormone in size:
a.Angiotensin I
b.Thyroxine
c.Dihydrotestosterone
d.Glucagon
e.Vasopressin
33-What happens to protein kinase A (PKA) following the binding of cAMP?
a.The regulatory subunits of PKA dissociate, thereby activating the catalytic
subunits.
b.The stimulatory regulatory subunits dissociate from the catalytic subunits,
inhibiting the enzyme.
c.PKA catalytic subunits then bind to two regulatory subunits, thereby
activating the catalytic subunits.
d.Phosphodiesterase binds to the catalytic subunits, which results in enzyme
inactivation.
e.The inhibitory regulatory subunits dissociate from the catalytic subunits,
completely inactivating the enzyme.
ANSWER A
34-autocrine signaling (choose the best answer that describes it):
a.Messenger molecules travel only short distances through the extracellular
space to different cell types that are in close proximity to the cell that is
generating the message.
b.The cell producing the messenger expresses receptors on its surface that can
respond to that messenger.
c.Messenger molecules reach their target cells via passage through
bloodstream.
d.The messenger molecules are usually rapidly degraded and hence can only
work over short distances.
e.No answer describes it well.
ANSWER B
35-Where is the kinase catalytic domain of the receptor protein-tyrosine
kinases found?
A. On the extracellular surface of the receptor, immediately adjacent to the
ligand-binding domain.
B. On the cytoplasmic domain of the receptor.
C. On an independent protein that rapidly binds the receptor upon



ligand binding.
D. Within the transmembrane spanning portion of the receptor.
E. On the DNA binding domain
ANSWER B

Typically, what is the first reaction after most receptor protein tyrosine
kinases bind their ligand?
a. Receptor denaturation
b. Receptor degradation
c. Receptor dimerization
d. Receptor dissociation
e. Receptor trimerizatio

ANSWER C
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True about DM – Type 2 are usually obese and have a family history of the disease

True about hyperparathyroidism  – vitamin D deficiency can cause hyperparathyroidism

Wrong about Sheehan syndrome – associated with anterior pituitary enlargement with
increased vasculature

Not likely to be a hot nodule – medullary carcinoma

True about MEN syndrome – medullary carcinoma in MEN 2 has an earlier onset than
sporadic

Doesn’t cause Addison’s disease – massive adrenal hemorrhage

Top cause of endogenous Cushing syndrome - corticotroph pituitary adenoma

Not a symptom of hyperparathyroidism – tetany

- Wrong about DM – type 2 has peripheral resistance which involves decreased glucose
uptake by skeletal muscles and brain tissue

focus on medullary carcinoma patho pic

Wrong about picture of adrenal tumor – nuclear pleomorphism is an indicator of malignancy

Picture of calcification – Psammoma bodies in papillary carcinoma

Addison's Disease is characterized by
a. Lack of ACTH.
b. Excess production of cortisol from zona fasiculata.
c. Over production of T3.
d. Over production of T4.
e. Darken Skin color.

answer e

-Which of the following sentence is true?
a. Highest levels of cortisol are at night following ACTH release .
b. Cortisol release is same as the circadian pattern of growth hormone secretion.
c. Lowest levels of cortisol are in early AM following ACTH release Cortisol release.
d. Cortisol release is opposes the circadian pattern of growth hormone secretion.
e. None of the above.

ANSWER D

Which of the following is False about exophthalmos?
a. It may lead to corneal injury.



b. One cause is inflammatory infiltration of the retroorbital tissue.
c. It is specific for Graves disease.
d. It is present in all cases of Graves' disease.
e. It persists or progresses after treatment of thyrotoxicosis.

ANSWER D */

-Which of the following is most manifestation of thyroid diseases(MOST COMMON CAUSE
OF HYPOTHYROIDISM )?
a. Follicular adenoma.
b. Graves' disease.
c. Hashimoto thyroiditis.
d. Diffuse and multinodular goiter.
e. Papillary carcinoma.

ANSWER c

what is myxoedema (maybe )?
a. Is a term used synonymously with severe hyper activity of adrenal gland.
b. A condition of severely stunted physical and mental growth due to untreated anemia.
c. A condition of increased blood pressure.
d. A condition of severely stunted physical and mental growth due to untreated congenital
deficiency of
thyroid hormones.
e. Used to describe a dermatological change that can occur in hypothyroidism.

ANSWER e

Which of the following is NOT a clinical manifestation of Cushing syndrome
a. Cutaneous striae.
b. Hypertension.
c. Truncal obesity.
d. Hypoglycemia.
e. Osteoporosis.

ANSWER D
The most common cause of chronic adrenocortical insufficiency (Addison disease)
a. Autoimmune adrenalitis.
b. AIDS.
c. Tuberculosis.
d. Fungal infection.
e. Metastatic carcinoma.

ANSWER A



Which of the following is False about hyperaldosteronism
a. It causes hypertension.
b. Primary hyperaldosteronism is characterized by decrease renin levels.
c. It causes hypokalemia.
d. Secondary hyperaldosteronism can be caused by renal hypoperfusion.
e. The most common cause of primary hyperaldosteronism is adrenocortical carcinoma

ANSWER E

Which of the following is the most common cause of endogenous Cushing syndrome?
a. Ectopic production of ACTH.
b. Adrenocortical carcinoma.
c. ACTH-producing pituitary adenoma (Cushing disease).
d. Primary adrenal hyperplasia.
e. Adrenocortical adenoma.

ANSWER C

The most common cause of death in diabetic patients
a. Cerebral infarction.
b. Chronic renal failure.
c. Pulmonary edema.
d. Myocardial infarction.
e. Pulmonary infarction

ANSWER D

Which of the following is False about diabetes Mellitus type 2?
a. Inflammation mediated by cytokines results in peripheral resistance.
b. Accounts for 80-90% of cases of diabetes.
c. Low levels of free fatty acids play a role in mediating insulin resistance.
d. Obesity is a risk factor for insulin resistance.
e. Characterized by B-cell dysfunction.

ANSWER C

Which of the following thyroid carcinomas is associated with previous radiation therapy?
a. Papillary carcinoma.
b. Poorly differentiated thyroid carcinoma.
c. Medullary carcinoma.
d. Anaplastic carcinoma.
e. Follicular carcinoma

ANSWER A



Which of the following genes shows mutation in familial medullary carcinoma?
a. RET.
b. RB.
c. P63.
d. RAS.
e. P53

ANSWER A

Which of the following is False about primary hyperparathyroidism?
a. Most commonly caused by parathyroid adenoma.
b. It is the most common cause of clinically apparent hypercalcemia.
c. It causes ostitis fibrosa cystica.
d. It can cause nephrocalcinosis.
e. Characterized by hypophosphatemia.

ANSWER B

The least common type of pituitary adenomas
a. LH-Producing adenoma.
b. Somatotroph adenoma.
c. ACTH-producing adenoma.
d. TSH secreting adenoma.
e. Prolactinoma.

ANSWER D

Atypical pituitary adenoma is characterized by mutations of
a. P53 gene.
b. RAS gene.
c. RB gene.
d. WT1 gene.
e. PTEN gene.

ANSWER A

Which of the following is NOT a feature of central diabetes insipidus?
a. Characterized by polyuria.
b. Characterized by ADH deficiency.
c. Hyponatremia.
d. Can be caused by chronic inflammation of the pituitary gland and
hypothalamus.
e. The urine shows inappropriate low specific gravity.

ANSWER C



Which of the following is a cause of thyrotoxicosis NOT associated with
hyperthyroidism (thyroid hyper function)
a. Toxic follicular adenoma.
b. TSH producing pituitary adenoma.
c. Toxic multinodular goiter.
d. Thyroiditis.
e. Graves disease.

ANSWER D

Which of the following types of thyroiditis is caused viral infection?
a. Subacute granulomatous thyroiditis (de-Quervain thyroiditis).
b. Palpable thyroiditis.
c. Subacute lymphocytic thyroiditis (Painless thyroiditis).
d. Chronic lymphocytic thyroiditis (Hashimoto thyroiditis).
e. Riedel thyroiditis.

ANSWR A

-Which of the following characterizes type I but not type Il diabetes mellitus?
a. Lack of insulin.
b. Polyuria and polydipsia.
c. Can usually be successfully managed by dietary control.
d. Hyperglycemia

ANSWER A

***Patient having adenoma with severe headache ? Pituitary Apoplex

All domains in PKC except G protein
Female patient with with amenorrhea, galactorrhea, loss of libido and
infertility what is the adenomas ?
Lactrotrophs
Or somatotroph
Mostly the second answer is the right one

4- True about DM – Type 2 are usually obese and have a family history of the disease

Hyperparathyroidism is characterized by ?
a. Excessive production of PTH by one or more of hyperfunctioning parathyroid
glands.
b. Not having a genetic factor involved.
c. Less production of PTH by one or more of hyperfunctioning parathyroid
glands.
d. Increase in cortisol level.
e. All of the above



ANSWER A
16-Which one of the following about amylin and insulin hormones is not true?
a.Patients with type i diabetes have deficiency of insulin with normal level of
amylin
b.They are co-packaged in the same granules
c.Amylin hormone complements the actions of insulin in post prandial glucose
homeostasis via several mechanisms
d.Plasma concentrations of the two hormones display a similar diurnal pattern of
low fasting levels and high levels in response to meals
e.Consequently, amylin is normally co-secreted with insulin

ANSWER A

Which of the following is False about Hyperaldosteronism?
a.Secondary hyperaldosteronism can be caused by renal artery stenosis
b.Secondary hyperaldosteronism is characterized by high renin
c.The most common cause of primary hyperaldosteronism is adrenocortical
adenoma
d.The most common manifestation of hyperaldosteronism is hypertension
e.Primary hyperaldosteronism can be familial

ANSWER C

Which of the following is the most common cause of endogenous Cushing
syndrome?
a.ACTH -producing pituitary adenoma (Cushing disease)
b.Primary nodular adrenocortical hyperplasia
c.Primary diffuse adrenocortical hyperplasia
d.Adrenocortical adenoma
e.Adrenocortical carcinoma

ANSWEER A

Which of the following is False about Medullary thyroid carcinomas?
a.Some familial cases are associated with MEN 1 syndrome
b.Multicentricity is common in familial cases
c.Are neuroendocrine tumors
d.Sporadic cases affect adults
e.They secret calcitonin

ANSWER A

-Regarding Diabetes mellitus which is false?
a.Type 1 Diabetes mellitus happen due to Lack of insulin
b.Type 2 Diabetes mellitus happen due to Lack of insulin
c.Diabetes mellitus is a syndrome of disordered metabolism



d.Among Diabetes Signs; feeling Very thirsty
e.Diabetes mellitus could happen due to hereditary and environmental causes

ANSWER B

The most common cause of primary hyperparathyroidism is:
a.Parathyroid carcinoma
b.Nodular parathyroid hyperplasia
c.Chronic renal failure
d.Diffuse parathyroid hyperplasia
e.Parathyroid adenoma

ANSWER E

Which of the following about pathogenesis of type 1 diabetes is false?
a.It is an autoimmune disease
b.Production of autoantibodies against insulin
c.Characterized by extensive clonal deletion of self-reactive T lymphocytes
d.Characterized by abnormalities in regulatory T lymphocytes
e.Production of autoantibodies against enzyme glutamic acid decarboxylase
ANSWER C
28-All of the following are signs and symptoms of pituitary adenomas or
carcinoma except:
a.Cranial nerve palsies
b.Decrease intracranial pressure
c.Pituitary apoplexy
d.Sellar expansion
e.Seizures

ANSWER B

29-All of the following are features of Myxedema Except:
a.Decreased sweating
b.Mental sluggishness
c.Diarrhea
d.Pale skin
e.Apathy

ANSWER C

36-Which of the following is false about Graves' disease?
a. The serum levels of TSH binding inhibitor immunoglobulins might be high
in some cases
b. Characterized by infiltrative ophthalmopathy disappears after treatment of
thyrotoxicosis
C. Low TSH



d. Characterized by thyrotoxicosis in all cases
e. Characterized by diffuse iodine uptake

ANSWER B

37-All the following are among the Chronic complications of Diabetes mellitus
except:
a. Strokes
b. Coronary heart disease
c. Renal failure
d. Diabetic ketoacidosis
e. Poor wound healing

ANSWER D

38-Which of the following statements is False?
a. One cause of secondary diffuse hyperplasia in adrenal glands is Cushing
disease
b. After exogenous administration of cortisol, the adrenal glands show
bilateral diffuse hyperplasia
C. Cushing disease is ACTH dependent cause of Cushing syndrome
d. Primary adrenal hyperplasia may show micronodules or macronodules
e. Primary adrenal hyperplasia is ACTH independent cause of Cushing
syndrom

ANSWER B
which of the following does not cause hyperprolactinemia?
a. Pregnancy
b. High dose estrogen therapy
c. Reserpine
d. Dopamine
e. Stalk effecT

ANSWER D

Which of the following sentences is true?
a. Insufficiency of thyroid hormones result in Primary hyperthyroidism
b. Cretinism is a condition of stunted mental growth due to untreated
congenital deficiency of thyroid hormones
C. Myxedema is a term used with severe hyperthyroidism
d. Thionamides are the primary drugs used to increase thyroid hormone
production
e. Cretinism is a condition of stunted mental growth due to untreated
congenital increase of thyroid hormones

ANSWER B



Which of the following is False a bout thyroid follicular carcinomas?
a. Is more frequent in iodine deficient regions
b. More common in women
c. Tend to metastasize through lymphatics
d. Are composed of small follicles
e. Might be widely invasive or minimally invasive

ANSWER C

Sheehan syndrome is a complication of the following pituitary adenoma:
a. ACTH secreting adenoma
b. TSH secreting adenoma
C. LH secreting adenoma
d. Prolactinoma
e. Somatotroph cell adenom

ANSWER D
0-The type of thyroiditis that might occur in postpartum period is:
a.painless thyroiditis
b.sub-acute granulomatous thyroiditis
c.hashimoto thyroiditis
d.riedlle thyroiditis
e.palpation thyroiditis

ANSWER A


